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Chapter 19 – EPS – 

PROBLEMS

19–34.



Issued
Stock
Stock

Portion
Weighted


Dates

Shares
Dividend

Split


of Year

Average

2005

Jan. 1 to Mar. 31
75,000
(
1.10
(
3.0

(
3/12
=
61,875

Mar. 31—Sale

5,000
Mar. 31 to July 31
80,000
(
1.10
(
3.0

(
4/12
=
88,000

July 31—Stock Div.

8,000
July 31 to Nov. 1
88,000


(
3.0

(
3/12
=
66,000

Nov. 1—Sale

7,000
Nov. 1 to Dec. 31
95,000


(
3.0

(
2/12
=
  47,500

Weighted-average number of shares

263,375



Issued
Stock
Stock

Portion
Weighted


Dates

Shares
Dividend

Split

of Year

Average

2006

Jan. 1 to Feb. 28
95,000


(
3.0

(
2/12
=
47,500

Feb. 28—T Stock 


purchase

(5,000)

Feb. 28 to Apr. 30
90,000


(
3.0

(
2/12
=
45,000

Apr. 30—Split
180,000
Apr. 30 to Nov. 1
270,000





(
6/12
=
135,000

Nov. 1—T Stock sale

6,000
Nov. 1 to Dec. 31
276,000





(
2/12
=
  46,000

Weighted-average number of shares

273,500
19–35.

1.
Number of shares of stock outstanding


200,000


Income from continuing operations

$
690,000


Extraordinary loss


(60,000)


Net income

$
630,000

Basic EPS:



Continuing operations ($690,000/200,000)


$3.45



Extraordinary loss [$(60,000)/200,000]


(0.30)



Net income ($630,000/200,000)


$3.15
2.
Number of common shares expressed as weighted-average 


number of shares:



Jan. 1 to April 30—120,000 ( 4/12

40,000



May 1 to Sept. 30—180,000 ( 5/12

75,000



Oct. 1 to Dec. 31—200,000 ( 3/12


50,000




165,000

Basic EPS:


Continuing operations ($690,000/165,000)


$4.18


Extraordinary loss [$(60,000)/165,000]


(0.36)


Net income per common share ($630,000/165,000)


$3.82
3.
Same answer as (1). The July 1, 2005, 25% stock dividend increased the number of shares outstanding from 160,000 to 200,000. Stock dividends retroactively affect the shares and thus are assumed outstanding the entire year.

19–37.

Basic EPS:


Net income

$
631,000


Less: Preferred dividend ($10 ( 7,500)



75,000

Net income identified with common stock

$
556,000


Actual number of shares outstanding


200,000


Basic EPS ($556,000/200,000)

$2.78

Diluted EPS:


Income (see above for basic EPS)

$
556,000


Number of shares outstanding


200,000


Incremental shares:



On assumed exercise of options (26,000 ( 8/12)

17,333



Less: Assumed repurchase of shares with proceeds from 



exercise of options [(26,000 ( $28)/$75] ( 8/12


6,471

Incremental shares


10,862

Total weighted shares


210,862

Diluted EPS ($556,000/210,862)

$2.64
19–40.

1.
Basic EPS:



Weighted-average shares outstanding:




Months

Weighted



Dates

Shares
Outstanding


Average


Jan. 1 to Aug. 31
110,000
(
8/12
=
73,333


Aug. 31 to Dec. 31
140,000
(
4/12
=

46,667




120,000



Net income

$ 
540,000



Weighted-average number of shares outstanding

÷ 
120,000


Basic EPS ($540,000/120,000)

$ 
 4.50


Diluted EPS:



Test for dilution, convertible bonds:


Net Income Impact
Number of Shares

EPS Impact

$28,000
20,000

$1.40


Because $1.40 is less than $4.50, the bonds are dilutive.



Net income

$
540,000



Add interest savings on assumed conversion:




Interest prior to conversion ($1,000,000 ( 0.06 ( 8/12)


$40,000




Less: Income taxes (30%)



12,000

28,000





$
568,000



Number of shares used in computing diluted EPS:




Number of shares for basic EPS


120,000




Incremental shares issued on assumed conversion (30,000 ( 8/12)


20,000



Shares used in computing diluted EPS


140,000



Diluted EPS ($568,000/140,000)

$4.06
2.
Basic loss per share:



Net loss

$
(220,000)



Weighted-average number of shares outstanding [See (1)]


÷
120,000


Loss per share [$(220,000)/120,000]

$
(1.83)


Diluted loss per share assuming conversion of 10-year debentures:



Net loss

$(220,000)



Add interest savings on assumed conversion [See (1)] 


28,000





$(192,000)



Shares used in computing diluted loss per share [See (1)]


÷
140,000


Diluted loss per share [$(192,000)/140,000]

$
(1.37)


Because diluted loss per share assuming conversion is less than basic loss per share, convertible securities are antidilutive, and the $1.83 loss per share would be the only reported EPS on the income statement. Conversion always causes antidilution when losses occur.

19–41.

1.
Basic EPS:



Net income

$
860,000



Less: Dividends on preferred stock (10,000 ( $5)



50,000

Net income applicable to common stock

$
810,000



Weighted-average shares outstanding:




Jan. 1 to Sept. 1—280,000 ( 8/12


186,667




Sept. 1 to Dec. 31—336,000 ( 4/12


112,000






298,667



Basic EPS ($810,000/298,667)

$2.71

2.
Diluted EPS:



Test for dilution on convertible bonds:




Interest, net of tax, per $1,000 bond ($1,000 ( 0.10 ( 0.70)

$
70.00




Number of shares

÷
40.00



Incremental EPS ($70/40)

$
1.75
(dilutive)



Net income for basic EPS

$
810,000



Add interest expense net of taxes on convertible bonds



($1,000,000 ( 0.10 ( 0.70)


70,000


Net income for diluted EPS

$
880,000


Weighted-average shares outstanding for basic EPS


298,667



Incremental shares:




On assumed exercise of options

30,000




Less: Shares assumed repurchased from proceeds




of options (30,000 ( $22.50 = $675,000; 




$675,000/$36 average price)

18,750

11,250





309,917




Shares assumed to be issued on conversion of bonds 




[($1,000,000/$1,000) ( 40]


40,000





349,917



Diluted EPS ($880,000/349,917)

$2.51


Because the exercise price for the warrants is greater than the average market price of the stock for the year ($38 > $36), the warrants are antidilutive.
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